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Some Facts about Graphs of Linear Equations in Two

Variables

1. Write the equation for the line [ shown in the figure below.

3 2 A 0 1 2 3 4 5 6 7

2. Aline goes through the point (5, —7) and has slope m = —3. Write the equation that represents the line.
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1. Write the equation for the line [ shown in the figure.

This work is licensed under a
Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

2014 Common Core, Inc. Some rights reserved. commoncore.org




2.  Write the equation for the line [ shown in the figure.

3.  Write the equation for the line [ shown in the figure.
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4. Triangle ABC is made up of line segments formed from the intersection of lines Lyg, Lgc, and Lyc. Write the
equations that represent the lines that make up the triangle.
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5. Write the equation for the line that goes through point (—10, 8) with slope m = 6.

6. Write the equation for the line that goes through point (12, 15) with slope m = —2.

7. Write the equation for the line that goes through point (1, 1) with slope m = —9.

8. Determine the equation of the line that goes through points (1,1) and (3, 7).
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Note that some students may write equations in standard form.

1.  Write the equation for the line [ shown in the figure below.

Using the points (—3,1) and (6, 5), the slope of y
the line is 51
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The equation of the line is y = %x +3

2. Aline goes through the point (5, —7) and has slope m = —3. Write the equation that represents the line.

-7=-3(5)+b
—7=-15+b
8=»H

The equation of the line is y = —3x + 8.
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Students practice writing equations from graphs of lines. Students write the equation of a line given only the slope and a
point.

1.  Write the equation for the line [ shown in the figure.

Using the points (—3,2) and (2, —2), the
slope of the line is
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The equation of the line is y = — 4 5
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2.  Write the equation for the line I shown in the figure.

Using the points (—6,2) and (—5,5), the v

slope of the line is /
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The equation of the line is y = 3x + 20. A|m T P A S °
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3.  Write the equation for the line I shown in the figure.
Using the points (—3,1) and (2, 2), the y
slope of the line is
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The equation of the line is y = %x +z
4. Triangle ABC is made up of line segments formed from the intersection of lines L 45, Lg¢, and L. Write the
equations that represent the lines that make up the triangle.
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The equation of Ly isy = —2x + 8. N b
The equation of Ly isy = %x - %
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5.  Write the equation for the line that goes through point (—10, 8) with slope m = 6.

8=6(-10)+b
8=-60+b
68=0»b

The equation of the line is y = 6x + 68.

6.  Write the equation for the line that goes through point (12,15) with slope m = —2.

15 =-2(12)+b
15=-24+b
39=0»b

The equation of the lineis y = —2x + 39.

7.  Write the equation for the line that goes through point (1, 1) with slope m = —9.

1=-9(1)+b
1=-9+b
10=b

The equation of the line is y = —9x + 10.

8.  Determine the equation of the line that goes through points (1, 1) and (3, 7).

The slope of the line is
1-7
m = ——
1-3
-6
-2
=3.
The y-intercept of the line is
7=33)+b
7=9+b
—2=b.
The equation of the lineis y = 3x — 2.
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